
Exploded View & Parts List

Samsung Electronics 6-1

6. Exploded View & Parts List

6-1 CK2173VR5X/BWT

No Code No Description Specification Q’ty Remark

1 AA91-10423G ASSY-CABINET,FRONT -,5373,(SPK)BK708P MLPG,HB,BLK 1
AA64-00234B CABINET-FRONT -,5373,BK708P MLPG,HIPS,HB,BLK 1

2 AA61-40010A BOSS-WING -,HIPS,HB,NTR,-,- 2
3 6003-001024 SCREW-TAPTITE RWH,+,B,M4,L12,ZPC(YEL),SWRCH1 2
4 AA95-90027D ASSY-PCB,A/V FRONT -,CK5073,SCT13B,CE,9P,- 1
5 AA61-40007A STOPPER-PCB 5038.5368,ABS HB,NTR,-,-,- 1
6 AA64-70127F BADGE-BRAND AL,SAMSUNG,SILVER,L40,R800,NEW 1
7 AA64-10132A KNOB-POWER -,5373,NO-COATING,ABS,HB,BLK 1
8 AA64-40083A WINDOW-REMOCON -,5373,-,PC,V0,VIOLET,- 1
9 AA61-60003J SPRING-CS -,SUS304,0.5,OD6,H12,N7,-,-,- 1
10 AA63-50097A GRILLE-WOOFER -,5373,PA110,SECC,T0.5,-,- 1
11 AA64-10041A KNOB-CONTROL -,5373,-,ABS,HB,BLK 1
12 AA64-40183A INDICATOR-LED -,5373,-,ACRYL,-,-,- 1
13 3001-000003 SPEAKER 3W,16ohm,88+-2dB,180+-36Hz 1
14 AA65-30107A CLAMP-D,COIL NYLON 66,V2,NTR,-,20~22 INCH,- 4
15 AA60-10050R SCREW-ASSY WC,HH,+,M5,L31.5,SWRCH18A,ZPC( 4
16 AA27-20003Z COIL-DEGAUSSING -,21’,20.5OHM,35T,L2380,E 1
17 AA03-10024T CRT-COLOR -,A51KQJ63X(H),+380mG,21,90de 1
18 AA27-50004K DEFLECTION-YOKE -,DST-2192ML(H1),21,S/T,2.28m 1
19 3704-001090 SOCKET-CRT 9P,15.24PI,26.5PI,SN,- 1
20 AA64-30710D CABINET-BACK -,5338.73,-,HIPS,V2,BLK,-,- 1
21 AA42-10001V ANT-ROD -,3S,620mm,BRN,UL/CSA 1
22 6003-001026 SCREW-TAPTITE RH,+,B,M4,L15,ZPC(BLK),SWRCH18 4
23 AA63-30052A COVER-JACK -,-,V-PROJ,ELASTOMER,HB,BLK,-, 1
24 AA61-20070A HOLDER-CORD -,-,PP,V0,BLK,KE-0002 1



6-2 Samsung Electronics

Exploded View & Parts List

6-2 CK1438VR5X/VWT

1-1

1-2
1-3 1-4 1-5

1-9

1-8

1-6
1-7

2

2-2
2-1

 3
3-23-1

3-3

No Code No Description Specification Q’ty Remark

1 AA91-00068B ASSY-CABINET,FRONT -,3338,MLN,HB,BLK 1
AA64-31147K CABINET-FRONT -,3338,BK708P MLN,HIPS,HB,BLK,-,- 1

1-1 CABINET-FRONT OPTION
1-2 AA64-70127F BADGE-BRAND AL,SAMSUNG,SILVER,L40,R800,NEW 1
1-3 AA64-40057A WINDOW-REMOCON -,3338,-,PC,V0,VIOLET,- 1
1-4 AA64-10153A KNOB-POWER -,3338,-,ABS,HB,BLK 1
1-5 AA61-60003J SPRING-CS -,SUS304,0.5,OD6,H12,N7,-,-,- 1
1-6 AA64-40189A INDICATOR-LED -,3338,-,ACRYL,-,CLEAR,- 1
1-7 AA64-10052A KNOB-CONTROL -,3338,-,ABS,HB,BLK 1
1-8 3001-000275 SPEAKER 2.5W,16ohm,90dB,105Hz 1
1-9 AA61-40010A BOSS-WING -,HIPS,HB,NTR,-,- 2

2 AA03-10001D CRT-COLOR -,A34KQV42X,+380MG,14,90DEG,5 1
2-1 AA65-30106A CLAMP-D,COIL NYLON 66,V2,NTR,-,14 INCH,- 2
2-2 AA60-10050Q SCREW-ASSY WC,HH,+,M5,L26.5,SWRCH18A,ZPC( 4

3 AA64-30381E CABINET-BACK -,3338.73,-,HIPS,V2,BLK,-,- 1
3-1 AA42-10001V ANT-ROD -,3S,620mm,BRN,UL/CSA 1
3-2 6003-001026 SCREW-TAPTITE RH,+,B,M4,L15,ZPC(BLK),SWRCH18 4
3-3 AA61-20070A HOLDER-CORD -,-,PP,V0,BLK,KE-0002 1



Exploded View & Parts List

Samsung Electronics 6-3

6-3 CK2085VR5X/BWT

No Code No Description Specification Q’ty Remark

1 AA63-50049A GRILLE-WOOFER -,5085,PA110 GOJUPA,SECC,T0.5, 2
2 AA64-70123B BADGE-BRAND AL,R2000,SILVER,L=50,SAMSUNG,- 1
3 AA64-10183A KNOB-POWER,M -,33.5085,-,ABS,HB,BLK 1
4 AA61-60003J SPRING-CS -,SUS304,0.5,OD6,H12,N7,-,-,- 1
5 AA64-40181A INDICATOR-LED -,33.50.5385,-,ACRYL,-,-,- 1
6 AA64-40036A WINDOW-REMOCON -,5085,-,PC,-,-,- 1
7 AA64-10007A KNOB-CONTROL -,5085,-,ABS,HB,BLK 1
8 AA95-90027D ASSY-PCB,A/V FRONT -,CK5073,SCT13B,CE,9P,- 1
9 AA60-10002A SCREW-TAPPING RH,+,M4,L12,ZPC(YEL),-,OD14 2
10 3001-000191 SPEAKER 3W,8ohm,90dB,180Hz 2
11 AA91-10395F ASSY-CABINET,FRONT -,5085,(SPK)BK708P MLPG,HB,BLK 1

AA64-31358G CABINET-FRONT -,5085,BK708P MLPG,HIPS,HB,BLK,-,- 1
12 AA65-30107A CLAMP-D,COIL NYLON 66,V2,NTR,-,20~22 INCH,- 4
13 AA60-10050R SCREW-ASSY WC,HH,+,M5,L31.5,SWRCH18A,ZPC( 4
14 AA03-10030T CRT-COLOR -,A48ECR41X02,+380mG,20,90deg 1
15 3704-001090 SOCKET-CRT 9P,15.24PI,26.5PI,SN,- 1
16 AA42-10001V ANT-ROD -,3S,620mm,BRN,UL/CSA 1
17 AA64-30713D CABINET-BACK -,5085,-,HIPS,V2,BLK,-,- 1
18 6003-001026 SCREW-TAPTITE RH,+,B,M4,L15,ZPC(BLK),SWRCH18 4
19 AA61-20070A HOLDER-CORD -,-,PP,V0,BLK,KE-0002 1



6-4 Samsung Electronics

Exploded View & Parts List

6-4 CK20E3VR5X/NWT

No Code No Description Specification Q’ty Remark

1 AA91-10323T ASSY-CABINET,FRONT -,503E,(SPK)BK708P MLPG,HIPS HB,BLK 1
AA64-31037P CABINET-FRONT -,503E,BK708P MLPG(CIS),HIPS,HB,BLK,-,- 1

1-1 AA63-50319A GRILLE-WOOFER -,503E,PA110 3R,SECC-1,T0.5,-, 2
1-2 AA64-60404B INLAY-AV,HEAD 3E,3PIN WHITE,PS,T0.5,-,-,- 1
1-3 AA64-40431B WINDOW-REMOCON -,503E,567B,569B,-,PC,V0,VIOLET,- 1
1-4 AA64-10670A KNOB-POWER -,503E,-,ABS,HB,MET/BROWN 1
1-5 AA61-60003J SPRING-CS -,SUS304,0.5,OD6,H12,N7,-,-,- 1
1-6 AA63-30192T COVER-CONTROL -,503E,ML(CIS),HIPS,HB,KSP213,-,- 1
1-7 AA64-40432A INDICATOR-LED -,503E,-,ACRYL,-,CLEAR,- 1
1-8 AA64-70123B BADGE-BRAND AL,R2000,SILVER,L=50,SAMSUNG,- 1
1-9 6003-001024 SCREW-TAPTITE RWH,+,B,M4,L12,ZPC(YEL),SWRCH1 2
1-10 AA95-90028M ASSY-PCB,A/V FRONT -,39,85,66,,SCT13B,AA41-10903A 1
1-11 AA61-40113A STOPPER-PCB 501H,HIPS,NTR,HB,-,- 1
1-12 AA64-10669A KNOB-CONTROL -,503E,-,ABS,HB,MET-BROWN 1
1-13 6003-001019 SCREW-TAPTITE RH,+,B,M4,L12,ZPC(BLK),SWRCH18 1
1-14 AA61-40015A BOSS-CABINET -,HIPS,HB,NTR,-,- 4
1-15 AA65-30105A CLAMP-WIRE NYLON 66,V2,NTR,15MM,ALL MODEL 1
1-16 AA91-60268A ASSY-HOLDER,SPK -,ABS,HB,3001-001050,150mm,pie 2
1-17 6002-000522 SCREW-TAPPING TH,+,2,M4,L15,ZPC(BLK),SWRCH18 4
1-18 AA91-60303A ASSY-HOLDER,SPK -,8ohm6W,R700L350,4P/RBYB,503E 1
1-19 ASSY-HOLDER,SPK OPTION
1-20 6003-001019 SCREW-TAPTITE RH,+,B,M4,L12,ZPC(BLK),SWRCH18 4

2 AA03-10030T CRT-COLOR -,A48ECR41X02,+380mG,20,90deg 1
2-1 AA65-30107A CLAMP-D,COIL NYLON 66,V2,NTR,-,20~22 INCH,- 4
2-2 AA60-10050R SCREW-ASSY WC,HH,+,M5,L31.5,SWRCH18A,ZPC( 4

3 AA64-31039B CABINET-BACK -,503E,-,HIPS,V2,BLK,-,- 1
3-1 AA42-10001V ANT-ROD -,3S,620mm,BRN,UL/CSA 1
3-2 6003-001026 SCREW-TAPTITE RH,+,B,M4,L15,ZPC(BLK),SWRCH18 6
3-3 AA63-30215A COVER-JACK -,503E,-,ELASTOMER,HB,BROWN,-, 1
3-4 AA39-10001G POWER-CORD -,KKP-419C,KLCE-2F,2.286m,HOUS 1


